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Questions 151 to 152: Read the passage carefully and answer
the following questions. P

Many of us believe that 'small' means "insignificant’.

We believe that small actions and choices do not have much

impact on our lives. We think that it is only the big things,

the big actions and the big decisions that really count. But

when you look at the lives of all great people, we will see

that they build their character through small decisions. small
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Fnehish)

choices and small actions that they performed every day.
They transformed their lives through a step-by-step of day-
by-day approach. They nurtured and nourished their good
habits and chipped away at their bad habits, one step at a
time. It was their small day-to-day decisions that added up
to make a tremendous difference in the long run. Indeed, in

matters of personal growth and character building, there is
no such thing as an overnight success.
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The main idea in the passage is that

(1) Big things, big actions and big decisions make a
person great.

(2) Small actions and decisions are important in one's life.

(1) Overnight success is possible for all of us.

(4) Personal changes are not important. )

What does the writer mean by saying 'Chipped away at their
bad habits'?

(1) Steadily gave up bad habits

(2) Slowly produced bad habits

(3) Gradually criticised bad habits

(4) Do not like bad habits

Choose the type of the following sentence.

‘May you be happy'.

(1) Exclamatory sentence (2) Optative sentence
(3) Negative sentence  (4) Imperative sentence  (2)

Choose the correctly spelt word from the given options that
means “a formal assurance that certain conditions will be

fulfilled".

(1) Gurrantee (2) Guarantee
(3) Gurranty (4)  Guaranty )
Fill in the blank with appropriate connectives from the given
options:

Helen had a smile on her face
(1) because 2)
(3) otherwise “4)
Choose the correct sentence.
(1) How wonderful the scene is!

(2) How wonderful is the scene!

(3) How wonderful scene is this!

(4) How wonderful a scene!

The word opposite in meaning to 'embolden’ is
(1) Frighten (2) Loosen

(3) Drunken (4) Tighten (1)
Choose the one word substitution for the given expression
One who is not sure about God's existence.

(1) Arsonist (2) Atheist

(3) Agnostic 4) Apostate 3)
Choose the word from the given options which is nearest in
meaning to the word ‘moron’.

(1) Monal (2) Mourn

() Dullard 4) Coward 3)
Choose the word from (he given option which is opposite in
meaning to the word 'Manifested'.

(1) Displayed 2) Revealed
() Marked (4) Concealed

(0

she felt sad really.
however

whereas “)

(n

@)
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Fill in the blank with appropriate article.

Wereceived _ SOS from the mountaineer's team.
() a (2)an (3) the (4)noarticle (2
Choose the erroneous part of the given sentence.

Despite of continuing pain (1)/ she worked at her (2)/
temporary summer job (3)/ most of the week (4). (N
Choose the erroneous part of the given sentence.

The college library is (1)/ not only equipped with (2)/ very
good books, but (3)/ also with the latest journals (4).  (2)
Fill in the blank with proper tense or correct form of the verb,

When [ visited him in Mumbai, he - there for five
years. .
(1) teaches (2) is teaching

(3) has been teaching (4) had been teaching “4)
Which of the following sentence is grammatically correct?
(1) 1 have gone to Delhi yesterday.
(2) I has gone to Delhi yesterday.
(3) I went to Delhi yesterday.

(4) I have went to Delhi yesterday.

Fill in the blank with appropriate preposition.
This is in conformity the rules laid down by the

Corporation,

(1) for (2) against

(3) about (4) with

Choose the word which is spelt incorrectly:

(1)  PRONOUNCIATION (2) WARRANT
(3) RELENTLESS (4) DECENT
@A - |WEt Spelling ¥ - Pronunciation
Change the Direct narration to Indirect narration.
The teacher said to the boy, "Have you done your home
work?"

(I) The teacher asked the boy if he had done his home
work.

The teacher told the boy if he had done his home
work.

The teacher inquired the boy if he had done his home
work.

The teacher asked the boy if he have done his home
_ Wosk. M
Fill in the blank with appropriate word.

‘It was cold outside when we got up from bed in the
morning',

(&)

@

(N

@)

3)

)

(1) tottering (2) terrible

() trembling _ ‘ (4)  Dbiting “)

Fillin the blank with proper tense or correct form of the verb.

The advancements in medical science to be a boon

for all of us.

(1) have proved 2) has proven

(3) had proven (4)  has been proved Q)
L
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